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public static void main(String[] args) {
inti =1234;
System.out.printIn(i/1000*1000);//i+ E£55221000
}
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public static void main(String[] args) {
inta=1;
intb = ++a;
System.out.printin(a);//ITE%ZERE2
System.out.printin(b);//AT B4R E2
}
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public static void main(String[] args) {
inta=1;
intb =a++;
System.out.printin(a);//ITE%ZERE2
System.out.printin(b);//iT B4R E
}
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public static void main(String[] args){
System.out.printIn("5+5="+5+5);//tH5+5=55
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public static void main(String[] args){
inti=5;
i+=5,//iT8AI0 i=i+5 LRSS, BEZE
System.out.printin(i) //§EJ|':|:|'Z“—“%,—E1 0

}
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public static void main(String[] args) {
System.out.printin(1==1);//true
System.out.printIn(1<2);//true
System.out.printIn(3>4);//false
System.out.printIn(3<=4);//true
System.out.println(3> 4);//false

System.out.printin(3!=4);//true

}
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public static void main(String[] args) {
System.out.printIn(true && true);//true
System.out.printIn(true && false);//false
System.out.printin(false && true);//false, BILAITE

System.out.printin(false || false);//falase
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System.out.printin(false || true);//true
System.out.printin(true || false);//true, BILFTE

System.out.printIn(!false);//true

}

—— —— ) —

=mIEE

o = TIzEE

HiERE TER = HIEBRIAN? FR1: FR2

o =TRIARUES

IREBIRATVERE true, ZTEEMEBINERNERT, MELTE.
IREBIRIATVERE false, = TEEMRBINERNER2, MELTE.

public static void main(String[] args) {
inti=(1==27?100:200);
System.out.printIn(i);//200
intj = (3<=4 7500 : 600);
System.out.printIn(j);//500

}
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